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The paper has been divided into four sections — A, B, Cand D.

Section A contains 24 questions. Attempt any 20 questions.

Section B contains 22 Questions. Attempt any 18 questions.

Section C contains two Case based Questions with 12 questions Attempt any 10

ALWNR

qguestions.
5. Section D contains Questions 59 & 60 which are Map Based Questions. Both the
questions have to be attempted

6. All questions carry equal marks.
7. There will be no negative marking.
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SECTION-A
1. ES RN AT TS S TRIGR D [ RTT?
a) m—d@.ﬁ
b) AU
c) CANICEI]
d) ¥R

1.Which was the largest city of Harappan Civilization?
a) Mohenjodaro

b) Lothal

c¢) Kalibangan

d) Rangpur

2. BADIYINTHIUHUIHHIR:
CAARNICE]

b) A

) g

R ERICHII

2. Use of plough has been evidenced at:
a) Kalibangan

b) Lothal

c) Harappa

d) Banawali

3: JIIESIE S WD [9Tg
%) TS

b) A

SEANIEU

d) ATl

3: Which is the biggest Harappan Civilization site
a) Ropar

b) Lothal

c) Kalibangan

d) Rakhigarhi

4: U R TIIRY fFaageaddids
&) BIcE
b) R

c) Aig-TolGs!



d) AU

4: ‘The Great Bath’ & ‘The Great Granary’ belong to which site
a) Kalibangan

b) Bhirrana

¢) Mohenjo-daro

d) Lothal

g

b) Il
c) Eﬁ_q’%h
d) 3EN&H

5. Prabhavatigupta was the daughter of
a) Chandragupta Maurya

b) Chandragupta Il

c¢) Harshavardhana

d) Ashoka

6. Which metal coins came into use in the sixth century as an experiment?
a) Silver and copper

b) Copper and gold

c¢) Gold and silver

d) None of the above

7. UEIRIdTea H UG A TaR A b RIgdh [ ISR [ Y ?
a) AITIS

b) HITURIS

c) AAREH

d) IR h

7.Who issued gold coins in the first century for the first time?
a) Mauryan rulers

b) Kushana rulers

c¢) Chola rulers

d) Gupta rulers

8. g HRMB BT Ief?



%) STHOY
CIELIG]

) Tghddl
BERL

8.What was the title held by Emperor Ashoka?
a) Devanampiya

b) Kshatrapati

c¢) Chakravarthi

d) None of them

N S VP W 02
20003 AT HTAUTISTRIVIATE TUTh et ?

BRIF I RSB R PIEI S ISR EE B PRI CRIECARI ST
DEELECIRERIECICEEIECINR]

(c) TP RAE AU aHUg UG UB B N b AR e [hRa b dy

(d) Tt

9. Which of the following statements is correct about the classification of people in terms of
‘gotra’

under Brahmanical practice around 1000 BCE onwards?

(a) After marriage women were expected to give up their father’s gotra.

(b) They were supposed to adopt the gotra of their husband.

(c) Another important rule was that members of the same gotra could not marry

(d) All of these

10. FURTETa AR B A S A TR UT?

(T) SAGHHRATNRSUSRET (§) daIPIugHb iy
& AR (&) HiY

10. Which of the following was one of the occupations of Kshatriyas?
(a) Perform sacrifices and give gifts (b) To teach Vedas
(c) Trade (d) Agriculture

11. ARAIBIAHTIR Bl GRIIRRI BRI D AT |
s @hem  §Im Hys

11. According to Shastras only could rule the country.
(a) Brahmins (b) Kshatriyas (e) Vaishyas (d) Shudras

12. HETHRAD OB 8 [ Ab gRIRANTSUT?

QSR (o) & S STHID IS

12. The original story of Mahabharata was composed by
(a) Brahmanas (b) Kshatriyas (c) Sutas (d) None of these

13. RGeS g e T T RGN, Afh AR hY?



RICE I CIRIEIS)

@pe  @hm

13. Siddharth as the Buddha was named at birth, belonged to which kingdom?
(a) shakya (b) Panchal

(c) kuru (d) bhang

14. RIS TSRS UT?

(a) TRSTSTSTH(b) RMESTBTETH

(c) BORAGTgT (d) BORAHGASTH

14. Who among the following was the ruler of Bhopal?
(a) Nurjahan Begum (b) Shahjahan Begum

(c) Hazratjahan (d) Hazrat mahal Begum

15 SR S R IR RIeTeRd o e e a:

@) ﬁ«dl—ixﬂ;:i (&) BERATgI .
RIRIEEE EESIGEE]

15.John Marshall dedicated the inscriptions on the Sanchi stupa to:
(a) Sultan Jahan (b) Hasrat jahan
(c) Shah Jahan (d) Hazratjahan

16. S HTIRHETARIUG A b aaihRy?
(@) 20 (8 21 (&) 22 (SN 23

17.

%) gl

o) fRra

7) fagg
H)dag

17. Which of the following Gods are worshipped by Nayanar Saints:
a) Durga

b) Shiva

c) Vishnu

d) Vayu

18. FARfIREaH IS - areRuTEda g ?

&) qHdg

b) TSfdG

) BidG

d) 3Yddg

18. Which one of the following is the earliest Veda?
a) Samaveda

b) Yajurveda

c) Rigveda

d) Atharvaveda




19. TARRIGHVS YT BT fhraHhag?

a) ?‘lﬁlﬂé’c{

b) HASAG

¢) AGTIE

d) AATaHAG

19. The ‘Nalayiradivyaprabandham, was frequently described in the:
a) Tamil Veda

b) Kannada Veda

c¢) Telugu Veda
d) Malayalam Veda

20. ARG H S AaRA TR AT AT H & U FoTISd g ?

a) HRISID A HARY

b) ST

ORIGILIEE]]

) SRIGaH DI T8l

20. Which alvar woman’s songs are played widely in Tamil Nadu?
a) KarraikkalAmmiyar

b) Andal

¢) Rani Padmini

d) None of the above

21. PUCIRAD D IGS ?

(a) 1527 ST (b) 1529 ST (c) 1533 ST (d) 1537 ST
21. When did Krishna deva Raya die?
(a) 1527 AD (b) 1529 AD (c) 1533 AD (d) 1537 AD

22.1565%. H, AT RIT R dSpIassas!

(a) ?wladilq(b) RTHRTY(c) GRGQ(d) qdoh]

22.1n 1565 AD, the Vijayanagara army fought the battle of Rakshasi-Tangadi under
(a) Krishnadeva Raya (b) Rama Raya (c) Harihara  (d) Bukka

23, ST TANRHAGHAHI ST H YT T " fISTIhTaR " HE-araTger T

(a) SIHCARTNT (b) HBHRNATBIA () BTN (d) SIHTTT

23. The Portuguese traveller who jointly called the 'Audience Hall and MahanavamiDibba' as
the “House of Victory" was

(a) Duarte Barbosa (b) AfanasiNikitin (c) FernaoNuniz (d) Domingo Paes

24, TIPS ERIP | 18001 [ Th gRITBTRIHATIRTITYT?

N ) (Y] [o v AN o c
(a) STCTFSISTU (b) BricIb TR ST (c) BTSN (d) STTBUIC |
24. The ruins at Hampi were brought to light in 1800 by

(a) Alexander Greenlaw (b) Colonel Colin Mackenzie (c)
FernaoNuniz (d) J.F. Fleet.
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SECTION B
25, TR TTETsHiEIHUTEH (A) 3IRTH (R)
FEUHTITR [HUP USRS UG A eI AT IToT |
3B (T):

I 15008 ATYd T & SIRATHIT R HTE S b I T o feTa o AT TG SR 3R
YRS UHSHTSIAT |

BRI (R) : glaun-wu-l|rqenuw4-||w|or>|c1w|4-|||u1q>oqq5|<oh|w5d|u-1ufﬁ‘clﬁ|ﬁT¢q
A. A 3IRR Eﬁ?ﬁﬂ?ﬁ%ﬁm A DI IARSTHRATE |

B. A 3RR THITIR, & Q1IOD-IR A PIOEIATRATRIR IC. A G APb-IR Tedg |

AN

D. Adlddection-R {-I(i{'é' |

25. Two statements are given in the question below as Assertion (A) and Reasoning (R).
Read the statements and choose the appropriate option.

Assertion (A): From c. 500 BCE religious and social norms were compiled in Sanskrit texts
known as the Dharmasutras and Dharmashastras.

Reason (R): Brahmanas laid the codes of social behaviour for the society in general. Options:
A. Both A and R are true, and R is the correct explanation of A.

B. Both A and R are true, but R is not the correct explanation of A. C. A'is true but R is false.
D. Ais false but R is true.

26. AU ATHRTBT 3T e IR AB A TR HT AT RUTRITYT?
A. TETaRfAafurs. wfdasiRac. gy, anfifegfd

26. What was the most probable reason for the incorporation of the’ Shailabhanjika” Motif
in the Sanchi Stupa?
A. Mahaparinibbana B. Strength & wisdom C. Auspicious symbol D. Religious idol

27. mﬂﬂ?ﬁw

. S URIIARIG I D &I BT AR YT |

|| TSR HTABTRIRIER oI TR AT IATa YT gd e areHTaTs ATl
S SWIH IS D IRTS B G 190 SUTIRSB et

B WU IdIhIRASIRIGTH IS T/ AhUTI8I8 /a7

ahad|

b ddll

c. 1311

d 1,11 3R

27. Consider the following statement (s):

I. the Harappan civilisation was the development of urban centres.

Il Most of Harappan cities had carefully planned drainage system i
Harrapan roads and streets used to intersect each other at 90 degrees

Which of the above statement (s) is/are correct about Harappa Civilisation?



a.Only |
b. Only Il
c. 1&ll
d.L &I

V

Q

o YcClapdp|HIdl
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28. Identify the character of Mahabharata with the help of the following information.
¢ Belonged to the Rakshasa clan
e Married with Bheema
e Mother of Ghatotkacha

a. Hidimba
b. Subhadra
c. Kunti

d. Gandhari

28. RIS G AR AT IRad® Y R [AaR S
1. TSRS P D &Y |

[a}

2. TS S h G YA erd! |
3. 3MPH13213. Y, HHIAHTT S RITIATD! |

4. MBI G UHDUTR P CTT TIPS HTA BT |
SR o 1/ AhY-TaE e /a2

(T) 1,281R3

(&) 1,234

(M 2,334

(€1 1,3 34

Consider the following statements about the Mauryan Empire :
1. There were 5 major political centres in the Empire.

2. Megasthenese wrote the book Indica.

3. Asoka founded the Mauryan Empire in 321 B.c.

4. Asoka used his sources to propogate Buddhism.

Which of the above statements is/are correct ?



(a) 1,2 &3
(b) 1,2 &4
(c)2,3&4
(d)1,3&4

Identify the present day location.

It was the capital of Ashoka.

City was situated on the banks of son and Ganga.
(a) Karanataka

(b) Patna

(c) varanasi

(d) Taxila

30. AU BAHIAIS U ST TH RN P B RTATARG [eRaTe Y |
(Q) UTell, UTp TRl

(ofh) OTeh, TRpaSNRGA
(T UThd, 3RTHTSS

() UTedl, TP ARG

Name the languages in which the Asokan inscriptions were written.
(a) Pali, Prakrit & Greek

(b) Pali ,Sanskrit & Aramaic

(c) Prakrit ,Aramaic & Greek

(d) Pali ,Sanskrit & Greek

31. 59 XA IS HTYA & IR HRATIS [ s R Uh TG H I S R HTHTSTATR 2
(T) I, RIERI RPN PTICT; AgPTIIN]

(&fh)) I, TRRISIRP W BI3ey; fegudadmya

() fEgermiepryd; dredTanT

() NgyHIRTYHBIS ST, TABTITTHITANT

Why is the 6thcentury BCE often considered a major turning point in Indian history ?
(a) Emergence of States, cities and towns ; use of iron

(b) ) Emergence of States, cities and towns ;Dominance of Hinduism

(c) Dominance of Hinduism ; use of iron

(d) Emergence of Buddhism and Jainism ,Extensive use of Copper



32 ghadaaeia g aier saaifeaasid
(Y) |0THE

(s g

() fersogerat

(Sh) &b

Who composed ‘The Harshcharitra ‘ ,a biography of Harshavardhana ?
(a) Banabhatta

(b) Harisena

(c) Vishnu sharma

(d) Shudrak

33.disTaid e fanaRidesdalearA e de A yTiTdads ?

(Q) dTah i IgaThHEdY |

(&) SR B BTN BISUTNTHIATTS AT |

(@) SR G RMG IS SR G ST NUIgane ey |

(g}) S S 3 N thY N N c [ N N o NN
SIeATGH E THYATH AT RS TAN NI BRI B U HBRATI TR Ih AU TDh D ISR LAG R

Rl

33.Which of the following statement is incorrect about the duties mentioned in
Manusmriti for the Chandalas?

(a) They had to live in the outskirts of the village.

(b) They had to use discarded utensils.

(c) They were supposed to wear old clothes of the villagers and ornaments made from
shells.

(d) It was their duty to serve as executioner and dispose of the bodies of those who had no
relatives.

34 fFafifeaide agTagRAfiias?
(Q) 3MTGUd - TRPAHGIHRAB IS ATE S

@) gate - MUl e eSO

& fefewr - Hiastuat

(S) HEIAdIGd! - TRISIRad

1.(T), (1) 3R () 2.(a), (M 3R (N
3.(T), () 3R () 4. TTHDISTR!

34. Which of the following pairs are correctly matched?

(a) Adi Parvan — The first section of the Sanskrit Mahabharata
(b) Duryodhana — Eldest son of Gandhari

(c) Hidimba — Wife of Bhima

(d) Mahashweta Devi — Maharashtrian writer

1.(a), (b) and (c) 2.(b), (c) and (d)



3.(a), (b) and (d) 4.None of these

35. Consider the following statements regarding the critical edition of Mahabharata:

I. A team comprising dozens of scholars initiated the task of preparing a critical edition of
the Mahabharata.

1. Initially, it meant collecting Sanskrit manuscripts of the text, written in a variety of scripts,
from different parts of the country.

lll. The team worked out a method of comparing verses from each manuscript.

Which of the following statement(s) is/are correct?

A.Only |

B.landll

C.land lll

D. All of the above

3s.ﬂﬁ$u=§ﬁ |

(A) YRTE S |

(8) YHANPAUYY |

(C) PTRIHUGTH AR A URTD AT 12|
(C) UABNHABTTHA B G TR ATHURRGNTITT |
(A) (a) 31 (b) (B) (a) 3 (d)

(C) (¢) 3R (d) (D)

36. Find the correct statements.

(a) Dhritarashtra was blind.

(b) Dharmasutras were Prakrit texts.

(c) Fa Xian was a Burmese monk who travelled India.
(d) Each gotra was named after a vedic seer.

(A) (a) and (b) (B) (a) and (d)

(C) (c) and (d) (D) None of these




() R

(S IREFADR|

37.Mandasor Stone inscription records the history of a guild of
(a) goldsmiths.

(b) rathakaras.

(c) potters.

(d) silk weavers.

38. WU AAIHe A FAfRaae Y RfdaR®: |

(i) BRI TUR TG o e Te sl e a3 argamfaffiasdig | (i)
BB S SIS UG A TG 3T |

(i) TR IR RIS AR AT T8 IaTT |

(iv) BB RIARITFgs |

FafafRadeaaeyTagie/e?

(a) 1, 13RI

(b) 11, 111 3RV

(c) 13RIV

(d) 1, 111 3RV

38. Consider the following statements regarding the structure of the stupa.

(i) Harmika is a balcony-like structure that represented the abode of gods. (ii) A mast called
the anda arose from the harmika.

(iii) A yashti was often surmounted by a chhatri or umbrella.

(iv) Yashti arose from the harmika.

Which of the following statements is/are correct?

(a) 1, Iland Il

(b) 11, 11l and IV

(c)land IV

(d) 1, 1l and IV

39. TRIGIGYARGUITE, THFHIATUDBYA () SRGERD BRI (R)
FETHATATBANTATS |
3B Y (A): U HIS A H AT HRAA T H BT SUg 3T

PRI (R) : AP TIRIRISIRAG [ IR RBAG TR D AT |
(a) G (A) 3R (R) TETG 3R (R) (A) PIIGIARATR |

(b) GIFY (A) 3R (R) TEIG3IR (R) (A) PTIERUSIHUGIG |

(c) () TGl (R) HEITRIT |

(d) (R) TETAebH (A) HETTEE|

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R)

Assertion (A): The mid-first millennium BCE saw the emergence of new religions in India.
Reason (R): People began speculating on the significance of the sacrificial tradition and
authority of the Vedas.



(a) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(b) Both (A) and (R) are correct and (R) is not the correct explanation of (A).
(c) (A) is correct but (R) is not correct.

(d) (R) is correct but (A) is not correct.

40. TREESHERIRIUS:

TSP UG A SRS UGG (TG g IaagRaT, GauchdIge,
e rigRRIITS e GG TIRR ITgH AT h TG SR T d® STHA N IS 3fde
(S HECRGI|

 frafiees

C. 3T

D.UIdA

Read the information given below:

Identify and name the Buddhist text. This unique Buddhist text, part of the Sutta Pitaka, is a
collection of verses composed by bhikkhunis. It provides an insight into women’s social and
spiritual experiences.

A. The Therigatha

B. Vinaya Pitaka

C. Angas

D. Panchantantra

41. FufafRaeeRIeIudsiRugafhafeaaueadfids |

o IRAYTHB A AIFRIH AT S|

o THAIBIAA b TSI AT STRIUTATE T ST o T HIaR B TIRITIRY
|

A. @R B. TR cRimaa  pdalg

Read the following information and identify to which sect they belong to .

They also questioned the authority of rebirth.

These won them followers among those who were marginalized within the Brahmanical
social order.

A. Alvars. B. Nayanars C .Lingayats D Buddhists

Which of the following pairs is not correctly matched?



A. Saguna Bhakti: worship of god with attributes

B. Nirguna Bhakti :Those who are immersed in devotion to shiva
C. Alvars :Those who are immersed in devotion to Vishnu

D. Nayanars :Leaders who were devotees of Shiva

ii) WWQH@WMWWW@WW?ﬁmA) Fadi(s) HaRii

C) i 3Miii (D) SRIGaT |

Consider the following statements regarding the Virupaksha temple.

i) The hall in front of the main shrine was built by Krishnadevaraya to mark his
accession.

ii) It has a unique shrine designed as a chariot.

iii) The principal deity of this temple was generally worshipped in Maharashtra. a) Only i
(b)iandii

c)ii and iii (d) All of the above.

44, fP TS SHFTHCIGTD R TTH?
(a) PUICAR(b) STSTYR b
(c) TFRT (o) BIRER

Which ruler composed the work, Amuktamalyada?
(a) Krishnadeva Raya (b) Sultan of Bijapur
(c) Rama Raya (d) Harihara

SfUHY (A) SIRBRUI(R)
W :

B | A I B G S C e A B U E C G T 1

(A) (A) 3ﬁ?(R) IR (R) (A) PG IITREATS |

(B) ST (A) 3R (R) TARATPIR (A) PRI RUPIPIUR R |

(C) (A) TR P (R) [BTS |

(D) (A)SIBTo W P (R) HUG |

45. (A) U YT: TSRO gRIG S TG 10 IS A SIRIGNUIh [daR D [ el |
(R) PIRUT:

TR R AR STRIUaETd AR IBTaRI b AT RS o H T daTh UareRy |




46.(A)BYT:- BTG EIR 3SR GG |
(R) PROT - BRSO

WWWW |

46. The following questions consist of two statements-

Assertion (A) and Reason (R).

Answer these questions selecting the appropriate option given below:
(a) Both (A) and (R) are true and (R) is the correct explanation of (A).
(b) Both (A) and (R) are true but R is not the correct explanation of (A).
(c) (A) is true but (R) is false.

(d) (A) is false but (R) is true.

45. (A)Assertion: The Lingayats challenged the idea of caste and the pollution attributed to
certain groups by Brahmanas.

(R)Reason:ThelLingayats opposed the Brahmanical ideas laid in Dharshastras and favoured
caste equality.

46 .(A)Assertion:-Akbar went to Ajmer dargah fourteen times.

(R) Reason :-Akbar went Ajmer dargah to seek blessings for new conquest, fulfilment of
vows and birth of son.

e 1

39 WS H od 1299 gl ®is W 1099 §F B
FafRadEae e RIS S U ad s cag AR - T RIdu S 3R, |
FILECIE

31 B IS | S g L A R B RS R A E L R K o e R Sl R RS A SIS G R R e I GRS B A F R
?Sﬁa{uaﬂﬁlsﬂq%lwmwd\iqo\mgdﬁoqluql|
Hﬂﬂ?ﬁﬂ%ﬁuﬁqﬁ|8e4wq¢|5|<u1|-1qvu’d|d§|ud|or>|d|dum*||q|d|q66|§ﬁz|ﬂ=|'e!°rlaq%q

a2

A RPN CaREdTe | GaRII8 (B U G RIAA PR BRI b 3R G [gUR-TR]
RSB

a A o . a
STHRIIRD IS T SR T Al R ST YaRTTAUTS Al SRS U b 13 b oA R Taa e
et

47. AU HHFIAY A2
AR
q.gared

g

C.
D.35H



3 QHTIIG-Id)IddIE;ObHQJ-mﬁ?ﬂEOH
C. a%uwm"r, WSR3 hfam iR |

D. CIE;L,ODHHIOI’N“HHI\TIHOLIOIE;ROYJIHIJ-I"IIQNQE;NF[, dHMQdSHQJ-\I\’:iRIERlQHﬁﬂg |

50. YARTTFSTTHRIHIT >
Wﬁm&lﬁﬁlqdlwld—{ldﬂ‘Id\‘dd?ldldslﬂcbl

B‘Ejdilg"lqlsollcblcblidldﬂ-lIQQG"IODIGKHMQ\QIODW

C. YRIFAGIIY-TD I &HTHRABIS RIS
D. YRTFAG AR I&HTHH b ferugeraT |

51. STATHAD HTYRURHTITH Ued b TR e e b IR T b T eh b Raig ?
A. JEA G AT RUR ST RTINS |
B. SUBUTHHUAUAT b IR e aUrIb 3R RY |

C. LINdNObI\'N'ILIQL;LQI&If‘}dQORQT

D. ST b [CTegUah IHTATE |

52. AT I IS I

ATB AT R RTara3oraT|
BRI ATEG G S o NI S [T |
c3TaHifAfspaTsidbus3aT|

D SIGUA U RUfASIRg R R |

SECTION C

This Section contains 12 questions in total. Attempt any 10 questions.

A. ReadthefollowingsourcecarefullyandanswerthefollowingMCQsbychoosing

most appropriateoption.

the

Draupadi’s question

Draupadi is supposed to have asked Yudhisthira whether he had lost himself before staking

her. Two contrary opinions were expressed in response to this question.

One, that even if Yudhisthira had lost himself earlier, his wife remained under his control, so he
could stake her. Two, that an unfree man (as Yudhisthira was when he had lost himself) could

not stake another person. The matter remained unresolved; ultimately, Dhritarashtra restored

to the Pandavas and Draupadi their personal freedom.




47 Who was asked these questions by Draupadi?

Yudhisthira
Duryodhana
Bheem
Arjun

00w

48Why did Draupadi raise thesequestions?

A.to know her position as awife.

B.to challenge theKauravas.

C.to instigate the Pandavas for thewar.
D.to humiliate thePandavas.

49How did Draupadi react to her treatment?

A.She raised the legal issues of property andownership.
B.She challenged context of patriarchalmarriage.

C.She symbolized the figure of the ultimate lord, master andowner.
D.She cried in shock and dismay at the treatment that she faced as awife.

50.How did Dhritarashtra react at theend?

A. Dhritarashtra restored personal freedom to the Pandavas andDraupadi
B. Dhritarashtra compelled the Pandavas to stay withKauravas

C. Dhritirashtra ordered Duryodhana toapologize

D. Dhritirashtra called Yudhishthira to apologize

51.How do you evaluate the position of Draupadi as a wife on the basis of thiscase?
A .She objected over the behavior of herhusbands.
B She had the property rights like herhusbands.
C The family had complete rights overher
D She had hatred feelings for herhusbands.

52. How were Draupadi’s question related
towomanhood?

a. She raised the question on the status of
thewomen.

b. She took stand against patriarchalnorms.
c. She raised all passive naturequestions.



d. She quietly accepted her position and plight.
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Read the following source carefully and answer the following MCQs by choosing the most
appropriate option:

One Lord

Here is a composition attributed to Kabir: Tell me, brother, how can there be

No one lord of the world but two?

Who led you so astray? God is called by many names:

Names like Allah, Ram, Karim,

Keshav, Hari, and Hazrat.

Gold may be shaped into rings and bangles. Isn’t it gold all the same? Distinctions are only
words we invent ... Kabir says they are both mistaken. Neither can find the only Ram.

One kills the goat, the other cows.

They waste their lives in disputation

53. What is the real aspect of Bhakti which Kabir is trying to convey?
A. Monotheistic B. Polytheistic
C. Atheistic D. Theocratic

54.. What can one infer from different names for the Supreme power given by Kabir?
A. Concept of Ultimate Reality B. Belief in Saguna bhakti
C. Rituals are way to gain insight D. Reality lies in worshipping idols

55. How has Kabir’s compositions promote communal harmony at large?
A. Kabir mentions about one God in all B. He questioned religion
C. He supported Hindu rituals D. He advocated Islamic Principles

56. Which of the following is the part of Kabir’s philosophy?
A. He emphasised on traditions and rituals

B. He used connotations such as Shabda or Shunya .

C. He supported Yajnas and sacrifices

D. He was a fundamentalist in his approach.

57.Kabir’s poetry has a literary as well as a philosophical significance. Select the most
appropriate option from the following that describes this essence.

A. God is one who just has different names.

B. God is vested in all saguna forms

C. God is a philosophy in isolation from rituals

D God is based on reincarnation

58. Read the following statements regarding Kabir and select the appropriate option



I. Kabir was a nirguna saint.

Il. He believed in formless supreme God.

Il He wanted to remove the differences based on caste and religion.
IV. He condemned the superstitious beliefs and rituals.

Options:
A I&II. B. LI&lIII
C. L ILIN &IV D. 1L &IV

SECTION-D

MAP BASED QUESTION

INDIA

OUTLINE MAP WITH STATES
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On the given outline map of India, identify the location with the help of specified
information.

59 On the political map of India’ A” is marked as major Ashokan inscription (Rock Edicts)
Identify it among the following options

A. Girnar

B. prayag

C. Bogra

D Mahasthan

60. On the same map’ B’ is also marked as the Important towns of second

century BCE, Identify it from the followingoptions.

A. Mathura
B. Bhraghukachchha
C. Shravasti
D. patliputra



NOTE-The following questions are for the Visually Impaired Candidates in lieu of 59
and 60
.59.  Which of the following was the capital ofMagadh?

A.Avanti

B. Rajgriha

C. Ujjain

D. Taxila

60. Which one among the following had the Pillarinscription?

A. Topra
B. Mathura
C. Kannauj
D. Delhi



	SECTION-D

